c) f(x)=2(3)"

2) Rewrite in logarithmic form:

3) Rewrite in exponential form:

4) Name the base of the ...

o
a) common logarithm: | 0‘}

log:81=4

b) f(x) = 3(*/a)"

A

d) f(x) = log,x

A

a3

' Ea

S

“«Q

[ =

b) natural logarithm: é@i&"
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5)  Evaluate:

a) logs16 . (L' b)  logs27 . L
6) Write as a single logarithm:

a) logsb + logsG b) In7—1In 15 |

o e e "\ 'V 5’
o AR e

c) Slogx +6logy \ Dal X”i] :.Z? -

7) Expand each |ogar|thm ‘ )
Sy 1y P oo s Ll e
a) logx’y & ?)\ 4_“” Dﬂ % a‘ b) In(*/3) ;—-LV\‘?-“X%— (th

L

8) Solve for x. To receive credit show the steps used and circle your answer.

a) 2" =64 by 5% = 25*
| ’d“o 2y
-—(g )
NanlX
S -
c) log5x=2 d) logx-log6=3
Z-
(0 =S¥

log"§‘=

32X
o)
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